SOUTH SYDNEY HIGH SCHOOL .
MATHEMATICS WORKSHEET
CIRCLE GEOMETRY

Name ¢

AB =8.4 cm.

Prove that equal chords are equidis-

tant from the centre, that is, given | /
el B 7 W P
Construction: Join OB and OD. R 2 ZROS = 9¢°,
Hint: Use congruent triangles. \v

2. Find the value of the pronumeral in . P

the following questions. (All lengths

are in cm.) Give adequate reasons. 3. Use properties of the circle and

Pythagoras’ Theorem in the following

(@ questions:
(@
Given:
RQ=7cm.
Q |
? | AN
] [
®) | ANC _“B
|
|
Given: f AB is a 16 cm chord of a circle with
RT =TS. | radius 10 cm. Find the length OC.

R ‘I & ‘: Note: OC 1L AB.
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ZAOB = £COD, |
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Circle Geometry Worksheets

(b)

(f
Given that AM = MB, OM = 10 cm,

and the circle has radius 26 cm, find
the length of chord AB.

(¢) A chord 15 cm long is 4 cm from
the centre of a circle. Calculate the
radius of the circle correct to one
decimal place.

(d) Two parallel chords 32 cm long
and 24 cm long are drawn in a circle
of radius 20 cm as shown in the
figure. Find the distance between the
two chords if they are both on the
same side of the centre.

Given AB Il CD, AB = 32 cm,
CD = 24 cm, OA = 20 cm. Find the
length MN.

Given that O is the centre of the
circle, prove that ZAOB = 2 x ZACB.
Construction: Join CO and produce
itto X

Let ZOAC =x°, ZOBC = y° and
remember that radii are equal.
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. eral, prove that ZSPQ = ZQRT.

Given that PQRS is a cyclic quadrilat-

Find the value of the pronumeral(s) in
each of the following diagrams, giving
adequate reasons in each case.

()

Given ZAOB = 86°,

ZACB=a°.

C
)
A ‘ B
R

(b) |
Q
P f

Given PQ is a diameter, ZRPQ = 52°, |
ZRQP = b°. L

(c)

N

/

|
Given ZADB = 42°, /ZDBC = 37°, i‘
ZDAC = x°, /DTA = y°. !

:

(e , ;
c Given |
D ’ ZDAB = 84°,
ZDCB =g°.

84° B
~__/ a
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®
C
/ £CBE = 114°,
D ZADC = ke,
(“'ﬁ :
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AD Il BC, ZCBE = 114°,
ZBAD = a°, Z/ADC = b°, Z/DCB = ¢°.

()

AC is a diameter, ZBCO = 48°,
ZOBC =y°, ZABO =x°, ZBAC =2°,

@

&

B

ZAOC = 138°,
ZABC = 0°.

@

ZPQR = 88°,
R /POR=¢°.

8°

()

0 C
A 4/0 D
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AB Il OD, ZABC = 124°, ZAOC = x°,
ZBCD =y°, ZBAO = z°.

® S

ZPSR = 48°,
ZPOR=a°,

AB 1l BC, £DAC = 42°, «/DBC =x°,
ZADB =y°, ZCTB =2°.

(n) B

AN 7T
S

ST is a tangent at T, ZABT = 44°,
ZLATS = y°.

(0)

ST is a tangent at T, ZATS = 52°,
ZLTBA =x°, LTOA=y".
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® 7. Find the value of % in each diagram. All
measurements are in cm.
(a) C
A ,
0 B |
AS and AT are tangents at Sand T, B
ZSAT = 82°, Z/STA =a°. '
(@ AB is the diameter of a circle of radius
A 10 cm, while AC = 16 cm, and BC = A cm.
()] ) T
v h cm
\ S
/s S
T ’
ST is a tangent at T, ZATS = 46°,
ZOTA =x°, LTOA =»°.
ST is a tangent at T to the circle of radius
15 em. If OS is 25 cm, calculate A.
()
ST is a tangent at T, £TBA = 38°,
ZLATS =x°, ZOAT = »°.
ST is a tangent at T to the circle of
radius 2.7 cm. Given that ST = 3.6 cm
and AS = h cm, calculate A.
d
PT is a tangent at T, ZOPT = 26°,
ZLTOP = ¢°.
t) T Al
ST is a tangent at T. AT =24 cm,
BT=10cm,BS=15cm and ST = A cm.
Calculate & correct to one decimal place.
8. Calculate the value of the pronumeral

PT is a tangent at T, AB is a diam-
eter, ZTOB = 68°, LTPB =a°,
LTAO =b°.

in each diagram. All lengths are in cm.
Answer correct to one decimal place
where necessary.




Circle Geometry Worksheets 5
(a) - Answer each part of this question with
B a logical sequence of steps, giving
adequate reasons. The point O is always

AE =5 cm, the centre of the circle.

EB=8cm, R

ED =4 cm, @)

‘ EC=x cm.

®

AB="Tcm,

A BS=8cm,
TS=tcm.

BC=6cm, DC =8cm, ED =10 cm,
AB =y cm.

@

ST=12cm, SB=8cm, AB=a cm,
CD=7cm,DS=ycm.

(e) T
t
‘ S
D B 18
N/

A C

ST is a tangent at T. ED =5 cm,
EA=3cm,EC=9cm, EB=xcm,
BS =18 cm, TS = ¢t cm. (Leave ¢ in
exact form.)

P
Given ZQOP = 74°, ZOPR = 28°, find
ZRQP.

A
(b)

G
3‘3

Given AB = AC, £BOC = 116°, find
ZABO.
(©

P

R
Q

Given £POR = 142°, ZPOQ = 94°, find
ZORQ.

@

{

L

Given ZOPR = ZQPR, ZSRO = 6°, prove
ZROS = 26°. '

(e) X

Given that £Z0XZ = 6°, and £ZXYZ = 6°,

prove that Z/X0Z = 90°. g
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C
Given DO |l BC, ZDAB = 118°,
find x. o

@®)

Given ZXAY = 47°, LYPZ = 90°,
find 6.

]

PQRS is a parallelogram, and PQRT
is a cyclic quadrilateral. Prove that
PT=PS. (Call £ZPQR = &°.)

e

Given ZBAE = 27°, Z/DCA = 36°,
find ZDBC.

)

Given PR = PQ,
ZPQS = x°,
48SQR =y°,
prove that
ZSTR = x°,

Given £TPS = 94°, ZRQU = 92°,
ZQSR = 48°, find ZSVR.

®

Circles intersect at A and B. XY and PQ
are straight lines. Prove that PX Il QY.

(m)

Given that PT is a tangent at T and
XP 1 PT, prove that ZOTX = /TXP.

(n) T
&

A

B

Given that TB is a tangent at B and
ZABC = 6°. AT is a straight line. Prove
that ZATB = 6°.
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(o)
S

P

T
aD
A\j B
Given that SP Il AB, PT is a tangent

at T and /PTB = o°, prove that
AABT is isosceles.

(p) B c

AY
X

Given that AC is a straight line, XY
is a diameter and ZXYA = 6°, prove
that ZXYA + ZYBC = 90°.

@

Y

X Q

Two circles intersect at P and Q. PX and
PY are the respective diameters. Prove
that X, Q and Y are collinear.

) A

‘ T

I

% B
TA and TB are tangents at A and B
respectively. AX is a straight line. Prove
that ZBOX = ZATB and that ZATB =2

x ZOAB.




